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JERRH R X 1 224,103, 141
HEELT = 1 52, 797, 186
HRHEI T = 1 6,430,530 |#EHI 1, 790 m3
s hoEEl
FEIA O=27) 1 =X
+1 &850, 000m3ATH ;
PEHI L (ICT) = 1 690, 566 | #iEH (ICT) 240 m3
Tty A7 by b BEFESEL 5, 000m3AT ;
HEHEI (ICT) 410 m3
T A OEHEl
FEIA O=27) 1 =X
+1 &850, 000m3ATH ;
AR+ T m3 100 398, 644 | B (HLR) %+ 1 &N
2. bmAT ;
PR (FL82) RS 12 1 X
2. 56mPL 4. OmATi ;
BEARRE AT = 1 41,797,200 | FREMLALE L 1, 830 m3
C=300KN/m2 ;
BRE LT m3 130 343,512 | BRIERE+ 1 =
2. 5mAT ;
IR+ 1 X
2. 5mPL 4. OmATi ;
PSR+ T (ICT) m3 580 207, 872 | BEPRAK - (ICT) 1 =
BT T (ICT) = 1 849, 030 | {EMFETE (8] 1:36) (ICT) 100 m2
VY = W R OB = CREE L
TEHEFETE (8] 1356) (ICT) 760 m2
AT ;
Bh &2 7Y =] =X 1 1,021,060 |3EY a/7)=} 380 m2
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P ALBE T = 1,058, 772
T = ,925, 347
IEHERAS T F2y , 207, 687 | EMpM A 357 m2
JZ8cm ;
F R 1 N
BT = , 171,500 | IRAFAE 72 m2
(15 A2
WA 199 m2
25 A
rAnIEA L 2 , 546, 160 | SEfHTE A 322 m
SD345 D19 HIFLE 1.8m T HIFLICES % EH
DO FIEE 200mLh | ;
ERABIEA 151 m
SD345 D19 HIFLE 2. 1m T HIFLICES % E
DO FIEE 200mLh | ;
ERABIRA 140 m
SD345 D19 HIFLE 2.7m 1 HIFLICES % EH
DO FIEE 200mLh | ;
PiERE T X , 361, 463
e+ T 2 368, 231
BT FTHERE T (R HAAT) = ,993, 232 | H )RS 60 m3
(158 Sy )
Im% 8 X 2mAii 18-8-40 (B IF) ;
GIWAF-%: it 81 m3
(25 8 Sy HfeaE)
2mPh_E5mEA T 18-8-40 (B ¥F) ;
GIWAF-%: it 345 m3
(358 Sy )
2mPh_E5mEA T 18-8-40 (B ¥F) ;
) A ERE 3 m3
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(452 ) A PehE)
2mph_E5mEA T 18-8-40 (B ¥F) ;
EEWAEW s 3 m3
(552 ) A HERE)
2mPh_E5mEA T 18-8-40 (B ¥F) ;
GB-1-1(B) 35 T
M A 1 =K
EEEET = 1 25, 657, 767
& G T E2y 1 335,045 | B E YA 399 m2
AHYIHI6enL T (4000m2LAF) B4 0 D1 it
R (e
s (& B A 20 m3
TATTVME
By 20 m3
TATTVME
HEAMEERLE T = 1 802, 825 | PEAKPEAHZEA 85 m2
HEAK M ERZE T (ICT) = 1 21, 325,420 | HEA A ZEA (TCT) 2, 740 m2
BT = 1 3,194,477 |74 Vi-JiE 783 m2
BEM £ EVE 50mm ;
T B GRE ) 763 m2
FEIT9Y%77 RC-30 AV /E 100mm ;
3] 783 m2
BRI As (13) L 4mAT EiZEE 40mm ;
HEKHEEY T = 1 13, 940, 659
e+ T 2 1 545, 032
AR T = 1 6, 690, 506 | 7" V¥ AUBLRITE 9 m
(PU2-B300-H300)
B R ) - MATE LR 3004 ;
7" Vv A NURMATE 23 m
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(PU2-B400-H400)
B R ) - MATE LR 4004 ;

7" VA NI 6 m
(157K )
800X 1000 ;

B () IS 216 m
B FRAE)
E 30cm & 30cm ;

H 2B RS 41 m
(15 B HABLE)
B300-H400~600 ;

H 2B RS 36 m
(25 B HABLARE)
B400-H400~900 ;

ik 17 e
(PC3-B300)
300 41.2%9.5%X50 ;

ik 42 e
(PC3-B400)
400 51.2X11X50 ;

ik 15 e
GEAKa/))-128)
H B AEE A 3985 H B300H 1800 ;

ik 14 e
GEAKa/))-128)
H B AEE A 3985 H B400H 1800 ;

illes= 2 biia
U vt )
HE A T-2 B400M L1000 #E #Wrik & VvMEE
(a7 A1)

illes= 5 biia
U vt )
B ABE R T-25 B300A L900 #IE &1k
OV EE (37 M)
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illes= 1 biia
v #EH)
B ABRE R T-25 B400A L1900 #IE V81
VMEE (27 M)

YT = 1 2,249,411 | WK 3 m
(L5 PR )
AT B 200~400mm ;

B ) - 2 m
(CP-PH-D800)

IRFAEES 12.6 m
¢ 1500 R30 ;

SR - - T & 1 4,455,710 | BUEHT B AR 1 T
(LS AEIRM)
HLGHTHE 18-8-40 (Ra)) LIRS IEHE

BT B 2 AT
(55K M)
HLGHTHE 18-8-40 (Ra)) LIRS IEHE

BT B 1 AT
OAZE VIS 4)
HLGHTHE 18-8-40 (Ra)) LIRS IEHE

BT B 1 AT
(AN
HHTH 24-12-25(20) (RlF) LT VEZEAIE
g -

BT B 1 AT
(455K
HHTH 24-12-25(20) (RlF) LT VEZEAIE
Firi

7" VA ME IR 14 & AT
(LA
300 300 X 1000 ;

v &)
T-25 800X 8004 Al H Ik & WhEE (27 M)
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ES 2 %
Vv &)
T-2 600X 600/ HIE 1k & VMEE @ M) ;
ES 1 HH
v &)
T-2 800X 10004 #MH V1L & WMEE (27 M)
ES 1 HH
v &)
T-6 2000 X 1000/ HIH 1k & VMEE (@7 o)
s 1 2
TEFRy PME
fxfa T Y 2,511, 730
AT = 2,511,730 |MREIEEEHRT ny) 290 m
(15 BEEE R ny))
BFE 180/230X 250 X 600 iR ;
HRHLERE R T ny) 39 m
QESFIELRT ny))
B 180/230 X250 X600 iR Kk A ;
BT T = 1, 023, 270
ERARI I AT T = 1,023,270 |4 =} v-w 69 m
Byt Gr-B-2B 21mLl_100moRT  Hh#RER A IE
e B -7 997
X T = 521, 407
X R T = 521,407 |V EhX R 1, 080 m
AR FEE) EHE 15em 1 bmn HEAKMEAHLIEA
H
VA =X R R 15 m

RIS AR 16cm JE 1. 5mm HEAKMEREZES
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=
a2 X R 16 m
R TFE) ¥ 775 45em JE1. 5mm HEAKMEEREA
=
r‘ﬁﬁﬂ: hi 54 m
R FE) KHI-F05 - 305 15em# % /1. 5mm
EFM@@ EH B
HEE L = 1 9, 366, 128
HEYHE L T = 1 4,867,668 |2v))-MEEYEUE L 568 m3
MRS BhkE T
ERZE R LD 130 m
TAT7VIEREERR 15emPA T
EhAE AR 2, 050 m2
TAT I MEREERR EREERRIE 15emPL T
EhAE AR AR 20 m2
TAT7VMERIERR Bl2ERRE 15ecm%Z B % 40emPL T
TR AL T = 1 4,498, 460 | FRIE 568 m3
/)Y - hik (AT
o 1 170 m3
TAT 7V
DO 4 m3
TAT 7V
By 568 m3
/)= (AT
By 155 m3
TA7 7k (HE)
By 15 m3
TAT7 bk (HRiB)
G an =X 1 60, 125, 504
72770 % T (ICT) E2V 1 6,402,672 | @A (F0E - BEH) (ICT) 403 m2
BAITyve77 RC-40 1 EVJE 200mm ;
e A (i - B ES) (TCT) 403 m2
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RIFE TR M-40 {1 =Y /& 150mm ;
R (HEGE - BRI ) 403 m2
AL ENFR (30) 1 EY/E 80mm ;
g (I - BIF ) 403 m2
U ASTAEMRIT T (20) £f%EE 50mm 3. Om
it
g (I - BIF ) 1,380 m2
AR EET A2 (20) FHIEHEEE 70mm 3. Om
it
PEANIBA AT L X 1 6,217,200 |1E80 =} V—p 180 m
Gr-B-2B [ 7 VEyaMdLigE 5L
X IR T 2 1 165,036 | ¥A R iR 510 m
Rl CFE) R 15em JE1. 5mm HEAKMESHIE M
=
& G T E2y 1 917,735 | KA BIH| 912 m2
AMEHI6cmZ#E 2 12emPl N BE2ET 0 Sk
VEEEME ;
s (& B A 61 m3
TATTVME
By 61 m3
TATTVME
T g L T 2 1 268, 300 | GHEERA AL 500 m2
TA77VMERZEIR AR 15em% B 2. 40emPL T
TR AL T = 1 1,912, 481 |k 104 m3
TAT7IVNEE
By 104 m3
TAT7 bk (HEE)
B A S i 1 X
7 VAR ADIERE - b V-l
[tk 1. 2 1 44, 242,080 |G L-BH#EHE 1,010 m2
FX1E H=5. 0m ;
) L BH A 720 m2
2= H=5. 0m ;
IR E 236 m
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R WM H400 X 400X 13X 21 ;
IR R S A 236 m
= WEEH H400 X 400X 13X 21 ;

A = 6, 872, 680
K T Y 392, 680
B EHT = 6, 480, 000
RN X = 224,103, 141
HiE 2 = 32, 225, 076
BISTIGE: = 5,128,076

TERE = 1,416,192 | BERRHEMGER: 2 1 =

IER M TR 1 =

HeffrE sy = 1,859, 884 |{R&5FEHL(ICT) 1 =

YATLIE 2 (ICT) 1 F2V

TER R AT -IMERE A 1 =
BGRESGESE (5 L) = 1, 852, 000
B (FEHL) = 27, 097, 000
Wi TR = 256, 328, 217
Bl gy = 83, 938, 000
T =5l = 340, 266, 217
— R A = 49, 293, 783
T =AM = 389, 560, 000
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